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PAPER I Financial Accounting

Instruction to the students/ छात्रों को निर्देश

The assignment consists of six major questions. Students are required to answer any
two questions

असाइनमेंट में छह प्रमखु प्रश्न हैं। छात्रों को किन्हीं दो प्रश्नों के उत्तर देने हैं

UNIT- I

Q1 What is Self-Balancing System of Ledgers? Give its working and state as how it differs from
Sectional Balancing System of Ledgers
. खाताबहियों की स्वकीय सन्तलुन प्रणाली क्या है? इसकी कार्य प्रणाली दीजिये तथा यह बतलाइये कि
खाताबहियों की वर्गीय सन्तलुन प्रणाली से यह किस प्रकार भिन्न है?

Q2 Vijay is a small trader. He maintains only an account in Bank of Baroda in which all takings
are lodged after meeting business expenses and his personal drawings and in which payment
for business purchases are passed through. You are required to ascertain his trading results for
the year ended 31st March, 2022 and to prepare a Balance Sheet as on that date from the
following details:

(1) The bank statement shows deposits of 60,150 and withdrawals of ₹ 59,250.
(2) A sum of ₹ 5,000 was placed in fixed deposit on 1st January, 2021 at 12% per annum and
withdrawn with interest on 30th June, 2021.
(3) The assets and liabilities on 31st March, 2022 were: Stock 10,500, Debtors 15,750, Bank
Balance 1,600, Furniture 20,000 and Creditors 12,000.
(4) He estimates that-(a) the stock and debtors have each increased by ₹ 500 during the year,
(b) The creditors were ₹ 11,000 on 31st March, 2021; and (c) during the year his personal
expenses amounted to 5,000 and business expenses 8,500.



विजय एक छोटा व्यापारी है। वह बैंक ऑफ बड़ौदा में केवल एक खाता रखता है जिसमें व्यापारिक व्यय तथा
उसके व्यक्तिगत आहरणों की परू्ति  के बाद समस्त प्राप्तियाँ जमा कर दी जाती हैं तथा जिसमें से व्यापार क्रय के
लिए भगुतान किये जाते हैं। निम्नलिखित विवरणों से 31 मार्च, 2022 को समाप्त होने वाले वर्ष के लिए उसका
व्यापारिक लाभ बताइये तथा उस तिथि को एक चिट्ठा तयैार कीजिए-

(1) बैंक विवरण 60,150 ₹ की जमा तथा 59,250 ₹ के आहरण प्रकट करता है।
(2) 1 जनवरी, 2021 को 12 वार्षिक ब्याज पर 5,000 ₹ की रकम मियादी खाते में जमा करायी गयी थी और 30
जनू, 2021 को ब्याज सहित निकाली गयी थी।
(3) 31 मार्च, 2022 को सम्पत्तियाँ व दायित्व इस प्रकार थे : स्टॉक 10,500 ₹; देनदार 15,750 ₹; बैंक शषे 1,600
₹; फर्नीचर 20,000 ₹ तथा लेनदार 12,000 ₹।
(4) वह अनमुान लगाता है कि (अ) वर्ष में स्टॉक व देनदारों में से प्रत्येक में 500 ₹ की वदृ्धि हुई है; (ब) 31 मार्च,
2021 को लेनदार 11,000 ₹ के थे; तथा (स) वर्ष में उसके व्यक्तिगत व्यय 5,000 ₹ थे तथा व्यापारिक व्यय
8,500 ₹ थे।

UNIT- II
Q3 Bobby Ltd. had taken out a loss of profit policy for ₹4,50,000 being 1,95,000 for net profit
and ₹2,55,000 for fixed expenses. Expenses to the extent of ₹ 50,000 were not insured. During
2021 the company earned a net profit of ₹ 1,35,000 after charging 3,05,000 standing charges
on a sale of ₹48,75,000. On 1st June, 2022 there was a fire as a result of which sales suffered a
great deal for a period of 5 months. The actual sales out 2021 and 2022 were as under:

बॉबी लिमिटेड ने ₹ 4,50,000 की लाभ की हानि पॉलिसी ली जिसमें ₹1,95,000 शदु्ध लाभ एवं ₹ 2,55,000
स्थायी व्ययों के लिए हैं। ₹ 50,000 के व्यय बीमित नहीं थे। वर्ष 2021 में ₹ 48,75,000 को बिक्री पर ₹
3,05,000 के स्थिर व्ययों को चार्ज करने के पश्चात ्कम्पनी ने ₹1,35,000 का शदु्ध लाभ कमाया था। 1 जनू
2022 को आग लग गई जिसके कारण माह तक बिक्री बहुत अधिक प्रभावित हुई। 2021 व 2022 की वास्तविक
बिक्रियाँ निम्नलिखित हैं :

2021 2022 2021 2022

January 3,00,000 3,30,000 July 6,00,000 75,000

February 3,00,000 3,30,000 August 5,10,000 90,000

March 3,75,000 4,12,500 September 4,50,000 1,20,000

April 3,75,000 4,12,500 October 3,75,000 1,65,000

May 4,50,000 4,95,000 November 3,75,000 2,25,000

June 5,40,000 75,000 December 2,25,000 2,70,000

The indemnity period according to policy was 4 months. ₹3,000 was spent on putting the fire off
and additional expenses as a consequence of fire were 24,042 but a saving of ₹ 4,500 was
affected. Towards the end of 2021 a machinery was installed which would have resulted in a net
saving equal to 2% of sales in cost of production.
पॉलिसी के अनसुार क्षतिपरू्ति  अवधि 4 माह थी। ₹3,000 आग बझुाने में खर्च हो गये एवं आग लगने के कारण ₹
24,042 के अतिरिक्त व्यय हुए परन्तु ₹4,500 की बचत भी हुई। 2021 के अन्त में एक मशीन की स्थापना की
गई जिसके परिणामस्वरूप विक्रय की उत्पादन लागत में 2% के बराबर शदु्ध बचत होगी।



Q4 The following are the details of the spare parts of Shri Ram Mills:

Date

1.1.2022 Opening Stock Nil

1.1.2022 Purchases 100 units @30 per unit

15.1.2022 Issued for consumption 50 units¹

1.2.2022 Purchases 200 units @ 40 per unit

15.2.2022 Issued for consumption 100 units

20.2.2022 Issued for consumption 100 units

1.3.2022 Purchases 150 units @50 per unit

15.3.2022 Issued for consumption 100 units

Find out the value of stock as on 31.3.2022, if the company follows: यदि कम्पनी निम्नलिखित
आधार को अपनाए तो 31.3.2022 को स्टॉक का मलू्य ज्ञात करो:

1. First in First out basis.
प्रथम आगमन प्रथम निर्गमन आधार।

2. Last in First out basis 1 .
अन्तिम आगमन प्रथम निर्गमन आधार।

. 3. Weighted Average basis.
भारित औसत आधार।

UNIT- III
Q5. Vivek entered into an agreement with Kamal & Co. for hire purchase of a truck supplied on
1st April, 2021 payable over a period of two years from that day by half yearly installment of
1,00,000 on 30th September and 31st March each year, the cash price boeing 3,17.000 and the
rate of interest being 20% per annum with half-yearly rate. On 1st April, 2022 after payment of
two instalments, Vivek transferred the truck and his rights and liabilities under the agreement to
Ashok for a consideration of ₹ 1,40,000. Ashok paid this sum to Vivek on 1st April, 2022 and the
next instalments to Kamal & Co. on due dates. Ashoka charges depreciation @ 25% on the cost
value of the Truck.
Calculate the amount of interest and capital value paid by Vivek to Kamal & Co. and make
necessary journal entries in the books of Ashok, assuming that Ashok closes his books on 31st
March each year.



विवेक ने 1 अपे्रल, 2021 को किराया क्रय पर एक ट्रक खरीदने के लिए कमल एण्ड कम्पनी के साथ समझौता
किया। भगुतान इस तिथि से ₹ 1,00,000 की अर्द्ध-वार्षिक किस्तों में 30 सितम्बर तथा 31 मार्च को दो वर्षों में
किया जाना है। रोकड़ों मलू्य ₹3,17,000 है और ब्याज की दर अर्द्ध-वार्षिक शषे पर 20 प्रतिशत वार्षिक है।
1 अप्रलै, 2022 को दो किस्तों का भगुतान करने के पश्चातv् विवेक ने एक समझौते द्वारा ट्रक और उससे
सम्बन्धित अधिकार और दायित्व ₹1,40,000 के प्रतिफल के बदले अशोक को हस्तान्तरित कर दिये। अशोक ने
यह राशि विवेक को 1 अपे्रल, 2022 को तथा अगली किस्तें देय तिथियों पर कमल एण्ड कम्पनी को चकुा दीं।
अशोक ट्रक के लागत मलू्य पर 25 प्रतिशत ह्रास का आयोजन करता है।

विवेक द्वारा कमल एण्ड कम्पनी को चकुाए गए ब्याज व पूँजीगत मलू्य की गणना कीजिए और यह मानते हुए कि
अशोक प्रतिवर्ष 31 मार्च को अपनी पसु्तकें बन्द करता है, उक्त व्यवहारों का लेखा करने के लिए अशोक की
पसु्तकों में जर्नल प्रविष्टियाँ कीजिए।

Q6. What do you understand by 'Instalment Payment System' ? What are the main
Characteristics ? Differentiate between Hire Purchase System and Instalment Payment
System?
'किस्त भगुतान पद्धति' से आप क्या समझते हैं? इसकी प्रमखु विशषेताएँ क्या हैं? किराया-क्रय पद्धति एवं
किस्त भगुतान पद्धति में अन्तर कीजिए ।



S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR 

An Autonomous Institute 

B. Com. (ABST Hons.) I Semester 

Assignment October 2024 

Business Statistics 

Instruction to the Candidates / ifj{kkfFkZ;ksa ds fy;s funsZ’k 

Assignment consists of SIX major questions. Students are required to answer any TWO questions. 

vlkbuesaV esa N% izeq[k iz’u gsSaaA Nk=ksa dks dksbZ nks iz’uksa ds mRrj nsus gsSaaA 

Section A ([k.M v) 

1. Define Statistics. Also explain the Objectives and limitations of statistics. 

स ांख्यिकी को परिभ षित कीषिये स ांख्यिकी के उदे्दश्ोां एवां सीम ओां को भी समझ इये  

 

2. Calculate Mean, Median and Mode from the following data: 

षिम्नषिख्यित आांकड़ोां से म ध्य, मख्यध्यक  एवां बहुिक की गणि  कीषिये: 

Income in Rs. 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

No. of workers 20 10 15 23 10 8 6 8 

 

Section B ([k.M c) 

3.  What is meant by Skewness? Explain various Methods of calculate Skewness. 

षविमत  से क्य  आशय है? षविमत  की गणि  कििे की षवषभन्न षवषियोां को समझ इये 

4. From the following two series, calculate Standard Deviation and state which series has greater 

variation. 

षिम्नषिख्यित दो शे्रषणयोां में प्रम प षवचिि ज्ञ त कीषिये एवां यह बत इये की दोिोां में से षकस 

शे्रणी में षवचिि अषिक है? 

Series X 50 80 45 91 72 66 14 36 55 82 

Series Y 100 105 85 66 72 89 95 125 110 115 

 

Section C ([k.M l) 

5. The following table gives the result of an examinations held in 2022. Calculate Karl Pearson's 

coefficient of correlation between age and success: 

षिम्नषिख्यित स िणी 2022 में हुई एक पिीक्ष  के परिण मोां को दश ाती है क िा षपयसाि षवषि से  

उम्र एवां सफित  के मध्य सह सम्बन्ध ज्ञ त कीषिये 

Age in years in 15-16 16-17 17-18 18-19 19-20 20-21 21-22 22-23 23-24 

Pass % 81 90 87 85 74 76 82 86 90 

 

6. Explain the concept of Regression. How does it differ from Correlation? Describe its utility. 

प्रतीपगमि अवि िण  की व्य ि  कीषिए। यह सह-सम्बिि से षक प्रक ि षभन्न है? इसकी उपयोषगत  की 

षववेचि  कीषिए। 
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Management Accounting 

Instruction to the Candidates / परीक्षार्थियों के लिए निरे्दश 

Assignment consists of SIX major questions. Students are required to answer any TWO questions. 

असाइिमेंट में छह प्रमुख प्रश्ि शालमि हैं। छात्रों को ककनहीीं र्दो प्रश्िों का उत्तर रे्दिे है। 
  

Section A (खण्ड अ) 

Q. 1 What do you meant by management accounting? Explain the objectives and limitations of 

management accounting. 

प्रबींधि िेखाींकि से आप क्या समझत े हैं? प्रबींधि िेखाींकि के उद्रे्दश्यों और सीमाओीं की व्याख्या 
कीजिए। 
 

Q. 2 A limited had a share capital of Rs. 20 lakh divided into 40,000 equity shares of Rs. 50 each. 

The company can raise additional funds of Rs. 10 lakh for expansion, either by issuing equity 

shares or 9% debenturs. The company’s present earnings before interest and taxes are Rs. 

2,80,000. Rate of income tax is 50%. Calculate the point of indifference and also verify your 

result. 

ए लिलमटेड की अींश प ींिी 20 िाख रुपये है िो 50 रुपये वािे 40,000 समता अींशों में ववभाजित है। 
कीं पिी ववस्तार के लिए 10 िाख रुपये का अनतररक्त कोष िुटा सकती है, या तो समता अींशों िारी 
करके या 9% ऋणपत्र िारी करके। कीं पिी की ब्याि और कर से प वि आय 2,80,000 रुपये है। आयकर 
की र्दर 50% है। तटस्थता बबींर्द ुकी गणिा करें और अपिा पररणाम भी सत्यावपत करें। 

  

Section B (खण्ड ब) 

Q. 3  Writes short notes on the followings: 

निम्िलिखखत पर सींक्षक्षप्त टटप्पणी लिखें: 
a) Current Ratio (चािु अिुपात ) 

b) Debt Equity Ratio (ऋण समता अिुपात) 
c) Debtors Collection Period (रे्दिर्दारों की वस िी अवर्ध)  

d) Operating Ratio (पररचािि अिुपात) 
 

Q. 4 A firm has sales of Rs. 75 lakh, variable cost Rs. 42 lakh, fixed cost of Rs. 6 lakhs, debt of Rs. 

45 lakh at 9% and equity capital Rs. 55 lakh. Calculate Operating, financial and Combined 

leverages. 

एक फमि की बबक्री 75 िाख रुपये, पररवतििीय िागत 42 िाख रुपये, जस्थर िागत 6 िाख रुपये, 9% 
पर 45 िाख का ऋण और समता प ींिी 55 िाख रुपये। पररचािि, ववत्तीय और सींयुक्त उत्तोिि की 
गणिा कीजिए। 

  

Section C (खण्ड स) 

Q. 5 What is Cash Flow Statement? Explain the classification of cash flows. 

िकर्द प्रवाह वववरण क्या है? िकर्द प्रवाह के वगीकरण को समझाइये। 
 

Q. 6 A project requires an initial outlay of Rs. 10,000 and generates year ending cash flows of Rs. 



6,000; Rs.3,000; Rs. 2,000; Rs. 5,000 and Rs. 5,000 from the end of first year to the end of fifth 

year. The required rate of return is 10% and pays tax at 50%.  

Calculate: 

a) Pay-back period; 

b) Average rate of return; and 

c) Net present value 

The present value of Re.1 at 10% for five years is 0.909; 0.826; 0.751; 0.683 and 0.621. 

एक पररयोििा के लिए 10,000 रुपये के प्रारींलभक पररव्यय की आवश्यकता है और िो पहि ेवषि के 
अींत से पाींचवें वषि के अींत तक क्रमश: 6,000 रुपये; 3,000 रुपये; 2,000 रुपये; 5,000 रुपये और 
5,000 रुपये का िकर्दी प्रवाह उत्पनि करता है। अििि की आवश्यक र्दर 10% है और 50% कर का 
भुगताि करिा पड़ता है।  
ज्ञात कीजिए: 
क) पुिः भुगताि अवर्ध; 
बी) औसत प्रत्यय र्दर; और 
ग) शुद्ध वतिमाि म ल्य। 
पााँच वषों के लिए 10% पर 1 रुपये का वतिमाि म ल्य 0.909; 0.826; 0.751; 0.683 और 0.621 है। 

  

 

* * * * * 



S.S. JAIN SUBODH PG AUTONOMOUS COLLEGE 
BUSINESS ADMINISTRATION 

B.COM PASS COURSE 

Attempt any two of the following: 

SEMESTER I 
ASSIGNMENT 0CTOBER 2024 

PAPERI 
LAW OF CONTRA CT 

The assignment consists of six major questions. Students are required to answer any two 
questions 

Unit-I 

Qi. Define a contract. Explain the essentials of a valid contract. 

Q2. State the rules as to nature of minor's agreement. 

Unit-II 

Q3. Define contract of guarantee. Distinguish between a contract of indemnity and a contract of 
guarantee. 

Q4. What is meant by discharge of contract? Describe the methods of discharge of a contract. 

Unit- III 

Q5. Define bailment and state the duties of a Bailor and Bailee. 

Q6. State the rights and duties of agent towards his principal. 
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________________________________________________________________ 
Instruction to the Candidates / परिक्षार्थिय ों के र्िये र्िरे्दष 

Assignment consists of SIX major questions. Students are required to answer any Two  questions. 

असाइिमेंट में छः  प्रमुख प्रश्न हैं। छात् ों क  क ई र्द  प्रश्न ों के उत्ति रे्दिे हैं। 

Unit-1       
   

Q1.  Define Business economics and describe its main characteristics. 

व्यावसायिक अर्थशास्त्र को परिभायित किें तर्ा इसकी मुख्ि यवशेिताओं का वर्थन किें। 

 

Q2. Explain the role of business economics in formulating the business policies. 

व्यावसायिक नीयिि ों के यनर्ााण र्ें व्यावसायिक अर्ाशास्त्र की भूयर्का की व्याख्या करें। 
 

Unit–2 

Q3. What do you understand by law of diminishing utility? Explain with suitable 

example and diagram. 

घटती उपिोयिता के यनिम स ेआप क्िा समझते हैं? उपिुक्त उदाहिर् एव ंयित्र सयहत 

समझाइिे। 

Q4. Define demand. Explain the concept of Law of Demand with diagram. 

मांि को परिभायित किें. मांि के यनिम की अवधािर्ा को यित्र सयहत समझाइिे। 

 

Unit – 3 

Q5. Explain in detail the concept of Law of variable proportions with diagram. 

परिवतथनशील अनुपात के यनिम की अवधािर्ा को यित्र सयहत यवस्ताि से समझाइिे। 

Q6. Explain the Baumol ‘s model of sales revenue maximization. 

यिक्री िाजस्व अयधकतमकिर् के िॉमोल मॉडल की व्याख्िा किें। 







S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR 

(AUTONOMOUS) 

B. Com. (Hons.) Third Semester Assignment October, 2024 

ACCOUNTANCY AND BUSINESS STATISTICS 

Elementary Cost Accounting 

Instruction to the Candidates / परीक्षार्थियों के लिए निरे्दश 

Assignment consists of SIX major questions. Students are required to answer any TWO questions. 

असाइिमेंट में छह प्रमुख प्रश्ि शालमि हैं। छात्रों को ककनहीीं र्दो प्रश्िों का उत्तर रे्दिे है। 
  

Section A (खण्ड अ) 

Q. 1 What is the meaning of Cost Accounting? Explain briefly the object and advantages of cost 

accounting. 

िागत िेखाींकि का क्या अथि है? िागत िेखाींकि के उरे्दश्यों एवीं िाभों को सींक्षेप में समझाइये। 
 

Q. 2 Shri Ram & Sons manufacturing a special product X. The following information are collected 

for the year 2023: 

Monthly demand is 200 unit, cost of placing an order Rs. 100, annual carrying cost per unit 

Rs.3, normal usage 50 unit per week, minimum usage 25 unit per week, maximum usage 75 unit 

per week and reorder period 4 to 6 weeks. Calculate (i) Economic Order Quantity, (ii) Reorder 

Level, (iii) Minimum Stock Level, (iv) Maximum Stock Level and (v) Total annual inventory 

cost. 

श्री राम एींड सााँस एक ववशेष उत्पार्द एक्स का निमािण कर रहें  है। वषि 2023 के लिए निम्िलिखखत 
जािकारी एकत्र की गई है: 
मालसक माींग 200 इकाइयााँ है, आरे्दश रे्दिे की िागत 100 रुपये, वावषिक रखरखाव की प्रनत इकाई िागत 
3 रुपये, सामानय उपयोग 50 इकाइयााँ प्रनत सप्ताह, नयूितम उपयोग 25 इकाइयााँ प्रनत सप्ताह, 
अर्िकतम उपयोग 75 इकाइयााँ प्रनत सप्ताह और पुि: आरे्दश अवर्ि 4 से 6 सप्ताह। गणिा करें (i) 
आर्थिक आरे्दश मात्रा, (ii) पुि: आरे्दश स्तर, (iii) नयूितम स्टॉक स्तर, (iv) अर्िकतम स्टॉक स्तर और 
(v) कुि वावषिक स्कनि िागत। 

  

Section B (खण्ड ब) 

Q. 3  What do you understand by absorption of overhead? Explain the different method of absorption 

of factory overhead. 

उपररव्यय के अवशोषण से आप क्या समझत े हैं? कारखाि उपररव्यय के अवशोषण की ववलभनि ववर्ियों की 
व्याख्या करें। 
 

Q. 4 What will the total wages of a worker under the following incentive plans if he executes a work 

of 100 units in 120 hours as against 150 hours allowed to him. His hourly rate is Rs. 2.50 and he 

gets a dearness allowance of Rs.10 per day (8 hours in a day) in addition to his wages:  

(1)Halsey Premium Plan  (2)Rowan Premium Plan 

निम्िलिखखत प्रोत्साहि योजिाओीं के तहत एक श्रलमक की कुि मजर्दरूी क्या होगी यदर्द वह 120 घींटों में 
100 इकाइयों का काम निष्पादर्दत करता है जबकक उस े150 घींटों की अिुमनत है। उसकी प्रनत घींटा र्दर 
रु. 2.50 और उस ेअपिे वेति के अनतररक्त प्रनत दर्दि 10 रुपये (एक दर्दि में 8 घींटे) का महींगाई भत्ता 
लमिता है: 
(1) हैल्सी प्रीलमयम योजिा (2) रोवि प्रीलमयम योजिा 

  



  

Section C (खण्ड स) 

Q. 5 What is cost sheet? How it is prepared? 

िागत पत्र क्या है? इस ेकैसे तयैार ककया जाता है? 

 

Q. 6 The following information has been collected from the records of a manufacturing company: 

निम्िलिखखत जािकारी एक निमािण कीं पिी के ररकॉडि से एकत्र की गई है: 
 Cost 

Records 

(Rs.) 

Financial 

Books (Rs.) 

1. Value of opening stock of: 

a) Raw Material 

b) Finished Goods 

c) Working in Progress 

 

27,342 

21,000 

19,488 

 

27,458 

20,642 

19,379 

2. Value of opening stock of: 

a) Raw Material 

b) Finished Goods 

c) Working in Progress 

 

29,457 

24,000 

21,296 

 

29,326 

22,860 

21,382 

3. Works Overhead 18,000 15,000 

4. Administration Overhead 6,000 7,000 

5. Selling & Distribution Overhead 9,600 7,500 

6. Miscellaneous expenses -- 21,000 

7. Transfer Fees -- 200 

8. Interest on Bank Deposits -- 1,500 

9. Profit 1,27,411      ? 
 

 Prepare Reconciliation statement and ascertain profit as per financial book. 

समािाि वववरण तैयार करें और ववत्तीय पुस्तक के अिुसार िाभ का पता िगाएीं। 
 

* * * * * 



S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR 

B. Com. (ABST Hons.) III Semester Assignment October 2024 

OPERATIONS RESEARCH 

 

Instruction to the Candidates / परीक्षार्थियों के लऱए निरे्दश 

Assignment consists of SIX major questions. Students are required to answer any TWO questions.  

असाइनमेंट में छह प्रमुख प्रश्न शाममऱ हैं। छात्रों को ककनहहॊ र्दो प्रश्नों का उत्तर देना। 
 

 

Section A 

1. What do you mean by Operations Research? Explain briefly various models used in operations 

Research. 

सकं्रिमा शोध से आऩ सभझत ेहैं? सकं्रिमा शोध भें उऩमोग भें रामे जाने वारे ववभबन्न प्रततरूऩों को संऺ ेऩ 
भें सभझाइमे।  

2. Solve the following linear programming problem: 

ननम्नमऱखखत रैखखक प्रोग्राममॊग समस्या को हऱ करें: 
Max. Z = 12x1 + 8x2  
Subject to: 2x1 + 3x2 ≤ 120  

2 x1 + x2 ≤ 60  
x1, x2 ≥ 0 

Section B 

3. What do you mean by Game Theory? Explain its objects and limitations. 

खेऱ मसद्ाॊत से आप क्या समझते हैं? इसके उदे्दश्य एवॊ सीमाएॉ स्पष्ट कीजिए। 
4. A store counter window has a mean service time of 4 minutes. Customers arrive at the rate of 10 

per hour. Assuming these represent rates with a Poisson distribution, find out the following:  

(a) What percentage of time will the counter be idle?  

(b) How long will it take the average customer to wait in line and be served?  

(c) What fraction of customers will have to wait in the line?  

एक फैंक के सेवा कें द्र का औसत सेवा सभम 4 भभनट हैं। उऩबोक्ता प्रतत घटें 10 की दय से आत ेहै। मदद इन दयों 
का फटंन प्वॉमसन तो तनम्न का भान ऻात कीजजमे:: 

(a) क्रकतने प्रततशत सभम तक सेवा कें द्र अनप्रमकु्तय हेगा? 

(b) प्रत्मेक उऩबोक्ता को कुर क्रकतने सभम तक सेवा कें द्र ऩय यहना होगा? 

(c) क्रकस अनऩुात भें उऩबोक्ता को ़तय भें प्रतीऺा कयनी होगी? 

Section C 
5. Describe the various decision criterion under certainty. 

तनजचितता की जथितत भें तनर्णमन की ववभबन्न कसौदटमों का उल्रेख कीजजमे 
6. An electrical company manufactures around 105meters. The daily production varies from 100 

to 108meters depending upon the availability of raw materials and other working conditions. 

The production probability per day is as follows:  

एक बफजरी कंऩनी 105 भीटय फनती है। कच्िे भार की उऩरब्धता एव ंअन्म ऩरयजथिततमों के आधाय ऩय 
दैतनक उत्ऩादन 100 से 108 के भध्म होता है। दैतनक उत्ऩादन की प्रातमकता तनम्न प्रकाय है: 

Production Per day 

(दैतनकउत्ऩादन) 
100 101 102 103 104 105 106 107 108 

Probability (प्रातमकता) 0.04 0.09 0.12 0.14 0.11 0.10 0.20 0.12 0.08 

 

The finished meters are transported in a specially arranges lorry accommodating 105 meters. 

You are given the following random numbers: 



उत्ऩाददत भीटय को एक ववशषे रॉयी के द्वाया जजसकी ऺभता 105 रॉयी की है, उसके द्वाया दसूये थिानों ऩय बेजा 
जाता है। आऩको तनम्न मादृजच्िक अकं ददए गए है: 

80, 81, 76, 75, 64, 43, 18, 26, 10, 12, 65, 68, 69, 61, 57 

Simulate the process to find out the following:  

(i) Average number of meters waiting in the factory.    (ii)  Average empty space on the lorry.   

अनरुूऩर् प्रक्रिमा के आधाय ऩय तनम्न को ऻात कीजजमे:  

पैक्री भें प्रतीऺा भें औसत भीटय की सखं्मा (2) रॉयी भें औसत खारी थिान 

 



S.S. Jain Subodh P.G. College, Jaipur 
Department of Business Administration 

Assignment, 2024 
B.com (Honours) 

Attempt any two of the following: 

Semester-III 

Company Law 

Q1. Discuss the legal privileges and exemptions enjoyed by a private company. 

Q2. Differentiate between private and public company. 

Q4. Write a short note on: 

Q3. Define "memorandum of association "and describe its contents. 

a) Doctrine of constructive notice b) Doctrine of indoor management 

QS. What are the powers of directors? What are their duties under the companies act? 

Q6. "The position of Company Secretary is like that of a hub in a bicycle wheel." Explain. 
Discuss the position and duties of a Company Secretary. 



S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR 
(Autonomous) 

B.Com & B.Com . EAFM - Semester-III Main/ Subsidiary Assignment, October 
2024 

Paper- I : Economic Environment in India 
________________________________________________________________ 

Instruction to the Candidates / परिक्षार्थिय ों के र्िये र्िरे्दष 

Assignment consists of SIX major questions. Students are required to answer any Two  questions. 

असाइिमेंट में छः  प्रमुख प्रश्न हैं। छात् ों क  क ई र्द  प्रश्न ों के उत्ति रे्दिे हैं। 

Unit-1 

Q1.  Describe the Basic problems of Indian Economy. 

भारतीय अर्थव्यवस्र्ा की मूल समस्याओ ंका वर्थन करें   

Q2. Explain the industrial policy 1991 of India 

भारत की औद्योगिक  नीगत 1991 का पूर्ण वर्णन कीगिए 

 Unit – 2  

Q3. Explain the Significance of agriculture in Indian Economy. 

भारतीय अर्णव्यवस्र्ा में कृगि के महत्व की व्याख्या करें  

Q4. Write a brief note on NITI Aayog 

नीगत आयोि पर संगिप्त गिप्पर्ी कररए 

Unit – 3 

Q5. Explain the importance of small scale industries in development of India 

भारत के ववकास में लघु उद्योगो ंके महत्व को समझाइये 

Q6. Write a brief note on Globalization and Privatization 

वैश्वीकरर् और गनिीकरर् पर एक संगिप्त गिप्पर्ी गिखें 

 



S.S. JAIN SUBODH PG (AUTONOMOUS) COLLEGE
B.COM (HONS)ABST SEM V
ASSIGNMENT OCTOBER 2024
Subject AUDITING Paper I

Instruction to the students/ छात्रों को निर्देश

The assignment consists of six major questions. Students are required to answer any
two questions

असाइनमेंट में छह प्रमखु प्रश्न हैं। छात्रों को किन्हीं दो प्रश्नों के उत्तर देने हैं

UNIT I
Q1 What is meant by continuous audit and to what class of business is it specially applicable ?
State briefly the advantages and disadvantages of it and indicate steps which can be taken to
minimise the disadvantages.
चालू अकेंक्षण का क्या अर्थ है और किस प्रकार के व्यावसायियों के लिए यह उपयकु्त है? इसके लाभ व हानियों को
सकें्षप में बताइए तथा हानियों को कम से कम करने के लिए आवश्यक सझुाव दीजिए।

Q2 What is internal check? Explain clearly the difference between internal check and internal
audit. What are the essentials of an efficient system of internal check? What is the position of an
auditor in relation to such a system ?
'आन्तरिक निरीक्षण' किसे कहते हैं? आन्तरिक निरीक्षण तथा आन्तरिक अकेंक्षण में अन्तर स्पष्ट कीजिए। एक
कुशल आन्तरिक निरीक्षण प्रणाली की विशषेताएँ बताइए। इस प्रकार की प्रणाली के सम्बन्ध में अकेंक्षक की क्या
स्थिति है ?

UNIT II
Q3. Vouching is the essence of auditing". Comment.
"प्रमाणन अकेंक्षण का सार है।" व्याख्या कीजिए।

Q4 . Write short notes on the points to be observed in the verification of the following assets of a
limited company.
एक सीमित कम्पनी की निम्नलिखित सम्पत्तियों के सत्यापन के सम्बन्ध में ध्यान रखने योग्य बातों पर सकं्षिप्त
टिप्पणियाँ लिखिए :
(a) Freehold properties. (स्वकीय सम्पत्तियाँ),
(b) Motor Vehicles. (मोटर गाड़ियाँ), (c) Plant and Machinery. (प्लान्ट और मशीन),
(d) Trade Debtors. (व्यापारिक देनदार), तथा
(e) Stock. (रहतिया)।



UNIT III
Q5. Describe briefly the provisions of the Companies Act 2013 with regard to the appointment,
rights and duties of an auditor.
अकेंक्षकों की नियकु्ति, अधिकार एवं कर्त्तव्य के सम्बन्ध में कम्पनी अधिनियम 2013 के प्रावधानों का सकं्षिप्त
वर्णन कीजिए

Q6 . What is a 'Qualified Report' ? Give three examples when you will like to qualify the report.
मर्यादित रिपोर्ट किसे कहते हैं ? ऐसे तीन उदाहरण दीजिए जबकि आप रिपोर्ट को मर्यादित करना चाहेंगे।
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S.S. Jain Subodh P. G. (Autonomous) College 

ASSIGNMENT-2024 

Tax Planning  

B. Com-ABST (Hons.)- Semester- V 

Instruction to the students/ fo|kfFkZ;ksa ds fy;s funsZ’k 

The assignment consists of six major questions. Students are required to answer 

any two questions 

vlkbuesaV esa N% izeq[k iz’u gS fo|kfFkZ;ksa dks fdUgha nks iz’uksa dk mRrj nsuk vko’;d gS 

Section-A 

1- ^^dj fu;kstu dj cpkus dk ,d oS/kkfud ,oa uSfrd rjhdk gSA bl dFku dh leh{kk dhft;s 

rFkk dj fu;kstu ds egRo dks le>kb;sA²  

 Tax Planning is a leagal and moral way of saving tax. Discuss this statement 

 and explain  the importance of Tax Planning. 

2- Jh cuthZ ds Mh- fyfeVsM ds lapkyd in dk izLrko fuEufyf[kr nks fodYiksa ds lkFk feyk gSA  

 Mr. Banerjee is offered the post of director by D ltd. with the following two 

option:  

        Option I   Option II 

  Basic Salary      1,80,000  1,80,000 

  Conveyance Allowance (For Private Use) 18,000   - 

  Car Facility (for Private Use) (1.6 Litre cap.)     -   18,000 

  (Cost of Car Rs. 2,00,000) 

  Entertainment Allowance    24,000   - 

  Entertainment Facility (Health Club)  -   24,000 

  Education Allowance for two Children 12,000   - 

  Education Facility for two Children  -   12,000 
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  (Education institute run by employer) 

  Rent free residential facility at Agra  36,000   36,000 

 mijksDr esa ls dj&fu;kstu dh ǹf"V ls Jh cuthZ dks vki fdl fodYi dk lq>ko nsaxsA 

 Which option do you recommend to Mr. Banerjee as an expert tax Planner? 

Section- B 

3. iwath ykHk D;k gS vk;dj vf/kfu;e ds izko/kkuksa dks /;ku esa j[krs gq, vki fdl izdkj iwath 

 ykHkksa dks U;wure dj ldsaxsA 

What is Capital Gain? How will you reduce or minimize capital gain tax on 

the basis of provisions of the Income Tax Act. 

4. /kkjk 80C esa Lohdk;Z dVkSrh dh foospuk dhft,A 

  Discuss the deduction allowable U/S 80C. 

 

Section -C 

5. What do you understand by Tax Planning for Managerial Decision? 

 izcU/kdh; fu.kZ;ksa esa dj fu;kstu ls vki D;k le>rs gS? 

 

6.  Analyse the tax planning process with reference to capital structure decision  

  of an organisation.  

  ,d laxBu dh iwath lajpuk lEcU/kh fu.kZ; ds lanZHk esa dj fu;kstu izfdz;k dk fo’ys"k.k  

  djsaA””””  

______ 



S. S. JAIN SUBODH P.G. COLLEGE, JAIPUR 

B. Com (Hons.) ABST V Semester 

Assignment October 2024 

ADVANCED COST ACCOUNTING 

________________________________________________________________ 

Instruction to the Candidates/ अभ्यर्थिय ों क  र्िरे्दश 

Assignment consists of six questions. Students are required to answer any two questions. 

असाइिमेंट में छह प्रश्न हैं। छात् ों क  र्कन्ह ों र्द  तहि सवाल ों के जवाब रे्दिे ह ोंगे। 

__________________________________________________________________________________________ 

UNIT I 

Q.1 From the following information prepare: (a) Statement of Equivalent Product; (b) 

Statement of Cost per Equivalent Unit; (c) Statement of Equivalent; (d) Process Account 

र्िम्नर्लखित जािकारह से तैयार करें : (ए) समकक्ष उत्पार्द का र्ववरण; (ि) प्रर्त समतुल्य इकाई लागत 

का र्ववरण; (ग) समतुल्य का र्ववरण; (घ) प्रर्िया िाता 

 1. opening work-in-progress: 1000 units valued as under: 

  Cost Rs10000 

 2. Input of Materials: 10000 units. 

 3. Current cost incurred in process: 

  Material   37800 

  Labour    17840 

  Overheads   8840 

 4. Normal Loss: 10% of total input (i.e. opening WIP + units put in) 

 5. Scrap 1500 units, scrap value Rs 2 per unit 

Degree of completion material 100%, labour 80%, overhead 60% 

 6. Closing work-in-progress: 1000 units 

 7. Transfer to next process: 8000 units 

 8. Degree of Completion:  Opening Stock (%)  Closing Stock (%) 

  Material    100    100 

  Labour     50    60 

  Overheads    40    50 

 9. Method of valuation: FIFO 

Q. 2 What are the pre-requisites for installation of a uniform costing system? State the 

advantages and limitations of uniform costing. 



एकरूप लागत प्रणालह कह स्थापिा के र्लए पूवि-आवश्यकताएों  क्या हैं? एकरूप लागत कह लाभ सहमाएों  

बताएों । 

UNIT II 

Q.3 An organisation manufacturing a product, particulars of which are detailed below: 

प्र.3. र्कसह उत्पार्द का र्िमािण करिे वाला सोंगठि, र्जसका र्ववरण िहचे र्वसृ्तत है: 

 

  Annual Production     20,000 units 

       Rs. 

 Material Cost     60000 

 Other variable costs    1,20,000 

 Fixed costs     40,000 

 Total Cost     2,20,000 

 Apportioned Investment   2,00,000 

Determine the unit selling price under each of the following strategies assume that the tax rate 

is 52%. 

र्िम्नर्लखित कायििहर्तय ों में से प्रते्यक के अोंतगित इकाई र्विय मूल्य ज्ञात कहर्जये, माि लहर्जए र्क कर 

कह र्दर 52% है। 

(i) 20% return on investment. 

(ii) 30% mark-up based on total costs. 

(iii) 20% profit on net sales price 

(iv) 15% profit on list sales when trade discount is 35% 

(v) 40% mark-up based on incremental costs 

(vi) 50% mark-up based on value added by manufacturer. 

 

Q.4 What do you understand by differential cost analysis? Explain the (a) essential features (b) 

practical application of deferential cost. 

र्वभेर्दात्मक लागत र्वशे्लषण से आप क्या समझते हैं, (ए) आवश्यक र्वशेषताओों (बह) र्वभेर्दात्मक लागत 

के व्यावहाररक अिुप्रय ग कह व्याख्या करें। 

UNIT III 

Q.5) Explain clearly the meaning and objects of cost reduction? 

प्र.5 लागत कटौतह का अथि और उदे्दश्य स्पष्ट रूप से बताएों ? 

Q.6 What are the control accounts? mention the main control accounts and explain their utility. 

प्र.6 र्ियोंत्ण िाते क्या है?, मुख्य र्ियोंत्ण िात ों का उले्लि करें  और उिकह उपय र्गता कह व्याख्या करें। 

 

 

 



 



S.S. Jain Subodh P.G. (Autonomous) College, Jaipur 
Department of Business Administration 

B.COM SEM V (Pass Course) 
Paper: I Functional Management 

ASSIGNMENT 2024-25 

Attempt any TWO: 

UNIT- I 

1. What do you understand by Human Resource Management also discuss its various 
function? 

2. Discuss the various methods and techniques of training. 

UNIT-I 

3. What are the various sources of working capital financing? Describe in detail. 

4. What is production planning? Explain its techniques. 

UNIT -1I 

5. Define Materials Management. Discuss its nature and objective. 

MM- 10 

6. Explain various techniques of Inventory control. 
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Instructions to the candidates/छात्र ों के लिये लिरे्दश 

 
Assignment consists of six major questions; students are required to answer any two 
questions. 

सत्रीय कायय में छह प्रमुख प्रश्न हैं, छात्ररों कर ककन्ी ों  दो प्रश्नरों के उत्तर देना आवश्यक हैं|  
 
 

Unit I 

 

1. Define Rural Development and discuss its significance.. 

ग्रामीण विकास को परिभावित कीविए तथा इसका महत्त्व स्पष्ट कीविए। 

 
2. Explain the existing Rural Development Administration at various levels in India. 

भाित में विवभन्न स्तिोों पि कार्यित ग्रामीण विकास प्रशासन को स्पष्ट कीविरे् । 

Unit II 
 

3. Highlight the major programmes of Tribal Welfare being implemented in 
Rajasthan. 

िािस्थान में िनिावत कल्याण हेतु कार्ायन्वित वकरे् िा िहे विवभन्न कार्यक्रमोों पि प्रकाश डाविए । 

 
4. Discuss various important woman developrnent programmes being implements 

in India. 

भाित में कार्ायन्वित वकरे् िा िहे विवभन्न महत्त्वपूणय मवहिा विकास कार्यक्रमोों की वििेचना कीविए। 

 
Unit III 

 
5. Define Co-operation. Clearly explain the principles of co-operation.  

सहकारिता की परिभािा दीविरे्। सहकारिता के वसद्धान्ोों का पूणय िणयन कीविरे्। 

 
6. Discuss the importance, objective and organisation of Rajasthan State Co-

operative Bank. िािस्थान िाज्य सहकािी बैंक के महत्त्व, उदे्दश्य एिों सोंगठन प्रणािी का िणयन 

कीविए । 

 

 


